



//
//  CreateNewCellNo.m
//  Lineage_Analysis
//
//  Created by Masahiko Sato
//

/*
 Cell number assignment
 
 The following code is written in Objective-C/C++ using Xcode.
 */
[bookmark: _GoBack]
-(int)cellNumberAddition:(int)position{
    string cellNumberExtract = to_string(activeCellStatusList [position*12]);
    
    if (activeCellStatusList [position*12] < 0){
        if ((int)cellNumberExtract.length() == 9) cellNumberExtract = "-0"+cellNumberExtract.substr(1);
    }
    else if ((int)cellNumberExtract.length() == 8) cellNumberExtract = "0"+cellNumberExtract;
    
    int cellNumberTempInt = activeCellStatusList [position*12];
    int numberLength = (int)cellNumberExtract.length();
    int zeroPoint = -1;
    int checkFlag = 0;
    int newCellNumber = 0;
    int degitNumber = 0;
    int cellExtensionEntry = 0;
    string degitExtract;
    string newExtensionEntryNo;
    
    if (cellNumberTempInt == 0) newCellNumber = -100000000;
    else{
        
        for (int counter3 = 0; counter3 < numberLength; counter3++){
            degitExtract = cellNumberExtract.substr((unsigned long)counter3, 1);
            
            if (checkFlag == 0 && degitExtract == "0"){
                zeroPoint = counter3;
                checkFlag = 1;
            }
            else if (checkFlag == 1 && degitExtract != "0"){
                zeroPoint = -1;
                checkFlag = 0;
            }
        }
        
        if (zeroPoint != -1){
            degitNumber = numberLength-zeroPoint;
            
            if (degitNumber == 8) newCellNumber = cellNumberTempInt+10000000;
            else if (degitNumber == 7) newCellNumber = cellNumberTempInt+1000000;
            else if (degitNumber == 6) newCellNumber = cellNumberTempInt+100000;
            else if (degitNumber == 5) newCellNumber = cellNumberTempInt+10000;
            else if (degitNumber == 4) newCellNumber = cellNumberTempInt+1000;
            else if (degitNumber == 3) newCellNumber = cellNumberTempInt+100;
            else if (degitNumber == 2) newCellNumber = cellNumberTempInt+10;
            else if (degitNumber == 1) newCellNumber = cellNumberTempInt+1;
        }
        else{
            
            cellExtensionEntry = 0;
            
            if (cellNumberTempInt > 0){
                if (cellNumberExtract.substr(0, 1) == "0"){
                    for (int counter3 = 0; counter3 < cellNoLingNoListCount/2; counter3++){
                        if (cellNoLingNoList [counter3*2] == activeCellStatusList [position*12+3]){
                            if ((to_string(cellNoLingNoList [counter3*2+1])).substr(0, 1) == "3"){
                                if (atoi((to_string(cellNoLingNoList [counter3*2+1])).substr(1, 5).c_str()) > cellExtensionEntry){
                                    cellExtensionEntry = atoi((to_string(cellNoLingNoList [counter3*2+1])).substr(1, 5).c_str());
                                }
                            }
                        }
                    }
                    
                    cellExtensionEntry++;
                    
                    newExtensionEntryNo = to_string(cellExtensionEntry);
                    
                    if (newExtensionEntryNo.length() == 1) newExtensionEntryNo = "30000"+newExtensionEntryNo+"700";
                    else if (newExtensionEntryNo.length() == 2) newExtensionEntryNo = "3000"+newExtensionEntryNo+"700";
                    else if (newExtensionEntryNo.length() == 3) newExtensionEntryNo = "300"+newExtensionEntryNo+"700";
                    else if (newExtensionEntryNo.length() == 4) newExtensionEntryNo = "30"+newExtensionEntryNo+"700";
                    else if (newExtensionEntryNo.length() == 5) newExtensionEntryNo = "3"+newExtensionEntryNo+"700";
                    
                    newCellNumber = atoi(newExtensionEntryNo.c_str());
                }
                
                if (cellNumberExtract.substr(0, 1) == "1" || cellNumberExtract.substr(0, 1) == "2"){
                    for (int counter3 = 0; counter3 < cellNoLingNoListCount/2; counter3++){
                        if (cellNoLingNoList [counter3*2] == activeCellStatusList [position*12+3]){
                            if ((to_string(cellNoLingNoList [counter3*2+1])).substr(0, 1) == "4"){
                                if (atoi((to_string(cellNoLingNoList [counter3*2+1])).substr(1, 5).c_str()) > cellExtensionEntry){
                                    cellExtensionEntry = atoi((to_string(cellNoLingNoList [counter3*2+1])).substr(1, 5).c_str());
                                }
                            }
                        }
                    }
                    
                    cellExtensionEntry++;
                    
                    newExtensionEntryNo = to_string(cellExtensionEntry);
                    
                    if (newExtensionEntryNo.length() == 1) newExtensionEntryNo = "40000"+newExtensionEntryNo+"700";
                    else if (newExtensionEntryNo.length() == 2) newExtensionEntryNo = "4000"+newExtensionEntryNo+"700";
                    else if (newExtensionEntryNo.length() == 3) newExtensionEntryNo = "400"+newExtensionEntryNo+"700";
                    else if (newExtensionEntryNo.length() == 4) newExtensionEntryNo = "40"+newExtensionEntryNo+"700";
                    else if (newExtensionEntryNo.length() == 5) newExtensionEntryNo = "4"+newExtensionEntryNo+"700";
                    
                    newCellNumber = atoi(newExtensionEntryNo.c_str());
                }
                
                if (cellNumberExtract.substr(0, 1) == "3"){
                    for (int counter3 = 0; counter3 < cellNoLingNoListCount/2; counter3++){
                        if (cellNoLingNoList [counter3*2] == activeCellStatusList [position*12+3]){
                            if ((to_string(cellNoLingNoList [counter3*2+1])).substr(0, 1) == "5"){
                                if (atoi((to_string(cellNoLingNoList [counter3*2+1])).substr(1, 5).c_str()) > cellExtensionEntry){
                                    cellExtensionEntry = atoi((to_string(cellNoLingNoList [counter3*2+1])).substr(1, 5).c_str());
                                }
                            }
                        }
                    }
                    
                    cellExtensionEntry++;
                    
                    newExtensionEntryNo = to_string(cellExtensionEntry);
                    
                    if (newExtensionEntryNo.length() == 1) newExtensionEntryNo = "50000"+newExtensionEntryNo+"700";
                    else if (newExtensionEntryNo.length() == 2) newExtensionEntryNo = "5000"+newExtensionEntryNo+"700";
                    else if (newExtensionEntryNo.length() == 3) newExtensionEntryNo = "500"+newExtensionEntryNo+"700";
                    else if (newExtensionEntryNo.length() == 4) newExtensionEntryNo = "50"+newExtensionEntryNo+"700";
                    else if (newExtensionEntryNo.length() == 5) newExtensionEntryNo = "5"+newExtensionEntryNo+"700";
                    
                    newCellNumber = atoi(newExtensionEntryNo.c_str());
                }
                
                if (cellNumberExtract.substr(0, 1) == "4"){
                    for (int counter3 = 0; counter3 < cellNoLingNoListCount/2; counter3++){
                        if (cellNoLingNoList [counter3*2] == activeCellStatusList [position*12+3]){
                            if ((to_string(cellNoLingNoList [counter3*2+1])).substr(0, 1) == "6"){
                                if (atoi((to_string(cellNoLingNoList [counter3*2+1])).substr(1, 5).c_str()) > cellExtensionEntry){
                                    cellExtensionEntry = atoi((to_string(cellNoLingNoList [counter3*2+1])).substr(1, 5).c_str());
                                }
                            }
                        }
                    }
                    
                    cellExtensionEntry++;
                    
                    newExtensionEntryNo = to_string(cellExtensionEntry);
                    
                    if (newExtensionEntryNo.length() == 1) newExtensionEntryNo = "60000"+newExtensionEntryNo+"700";
                    else if (newExtensionEntryNo.length() == 2) newExtensionEntryNo = "6000"+newExtensionEntryNo+"700";
                    else if (newExtensionEntryNo.length() == 3) newExtensionEntryNo = "600"+newExtensionEntryNo+"700";
                    else if (newExtensionEntryNo.length() == 4) newExtensionEntryNo = "60"+newExtensionEntryNo+"700";
                    else if (newExtensionEntryNo.length() == 5) newExtensionEntryNo = "6"+newExtensionEntryNo+"700";
                    
                    newCellNumber = atoi(newExtensionEntryNo.c_str());
                }
            }
            else{
                
                if (cellNumberExtract.substr(1, 1) == "0"){
                    for (int counter3 = 0; counter3 < cellNoLingNoListCount/2; counter3++){
                        if (cellNoLingNoList [counter3*2] == activeCellStatusList [position*12+3]){
                            if ((to_string(cellNoLingNoList [counter3*2+1])).substr(1, 1) == "3"){
                                if (atoi((to_string(cellNoLingNoList [counter3*2+1])).substr(2, 5).c_str()) > cellExtensionEntry){
                                    cellExtensionEntry = atoi((to_string(cellNoLingNoList [counter3*2+1])).substr(2, 5).c_str());
                                }
                            }
                        }
                    }
                    
                    cellExtensionEntry++;
                    
                    newExtensionEntryNo = to_string(cellExtensionEntry);
                    
                    if (newExtensionEntryNo.length() == 1) newExtensionEntryNo = "-30000"+newExtensionEntryNo+"700";
                    else if (newExtensionEntryNo.length() == 2) newExtensionEntryNo = "-3000"+newExtensionEntryNo+"700";
                    else if (newExtensionEntryNo.length() == 3) newExtensionEntryNo = "-300"+newExtensionEntryNo+"700";
                    else if (newExtensionEntryNo.length() == 4) newExtensionEntryNo = "-30"+newExtensionEntryNo+"700";
                    else if (newExtensionEntryNo.length() == 5) newExtensionEntryNo = "-3"+newExtensionEntryNo+"700";
                    
                    newCellNumber = atoi(newExtensionEntryNo.c_str());
                }
                
                if (cellNumberExtract.substr(1, 1) == "1" || cellNumberExtract.substr(1, 1) == "2"){
                    for (int counter3 = 0; counter3 < cellNoLingNoListCount/2; counter3++){
                        if (cellNoLingNoList [counter3*2] == activeCellStatusList [position*12+3]){
                            if ((to_string(cellNoLingNoList [counter3*2+1])).substr(1, 1) == "4"){
                                if (atoi((to_string(cellNoLingNoList [counter3*2+1])).substr(2, 5).c_str()) > cellExtensionEntry){
                                    cellExtensionEntry = atoi((to_string(cellNoLingNoList [counter3*2+1])).substr(2, 5).c_str());
                                }
                            }
                        }
                    }
                    
                    cellExtensionEntry++;
                    
                    newExtensionEntryNo = to_string(cellExtensionEntry);
                    
                    if (newExtensionEntryNo.length() == 1) newExtensionEntryNo = "-40000"+newExtensionEntryNo+"700";
                    else if (newExtensionEntryNo.length() == 2) newExtensionEntryNo = "-4000"+newExtensionEntryNo+"700";
                    else if (newExtensionEntryNo.length() == 3) newExtensionEntryNo = "-400"+newExtensionEntryNo+"700";
                    else if (newExtensionEntryNo.length() == 4) newExtensionEntryNo = "-40"+newExtensionEntryNo+"700";
                    else if (newExtensionEntryNo.length() == 5) newExtensionEntryNo = "-4"+newExtensionEntryNo+"700";
                    
                    newCellNumber = atoi(newExtensionEntryNo.c_str());
                }
                
                if (cellNumberExtract.substr(1, 1) == "3"){
                    for (int counter3 = 0; counter3 < cellNoLingNoListCount/2; counter3++){
                        
                        if (cellNoLingNoList [counter3*2] == activeCellStatusList [position*12+3]){
                            if ((to_string(cellNoLingNoList [counter3*2+1])).substr(1, 1) == "5"){
                                if (atoi((to_string(cellNoLingNoList [counter3*2+1])).substr(2, 5).c_str()) > cellExtensionEntry){
                                    cellExtensionEntry = atoi((to_string(cellNoLingNoList [counter3*2+1])).substr(2, 5).c_str());
                                }
                            }
                        }
                    }
                    
                    cellExtensionEntry++;
                    
                    newExtensionEntryNo = to_string(cellExtensionEntry);
                    
                    if (newExtensionEntryNo.length() == 1) newExtensionEntryNo = "-50000"+newExtensionEntryNo+"700";
                    else if (newExtensionEntryNo.length() == 2) newExtensionEntryNo = "-5000"+newExtensionEntryNo+"700";
                    else if (newExtensionEntryNo.length() == 3) newExtensionEntryNo = "-500"+newExtensionEntryNo+"700";
                    else if (newExtensionEntryNo.length() == 4) newExtensionEntryNo = "-50"+newExtensionEntryNo+"700";
                    else if (newExtensionEntryNo.length() == 5) newExtensionEntryNo = "-5"+newExtensionEntryNo+"700";
                    
                    newCellNumber = atoi(newExtensionEntryNo.c_str());
                }
                
                if (cellNumberExtract.substr(1, 1) == "4"){
                    for (int counter3 = 0; counter3 < cellNoLingNoListCount/2; counter3++){
                        if (cellNoLingNoList [counter3*2] == activeCellStatusList [position*12+3]){
                            if ((to_string(cellNoLingNoList [counter3*2+1])).substr(1, 1) == "6"){
                                if (atoi((to_string(cellNoLingNoList [counter3*2+1])).substr(2, 5).c_str()) > cellExtensionEntry){
                                    cellExtensionEntry = atoi((to_string(cellNoLingNoList [counter3*2+1])).substr(2, 5).c_str());
                                }
                            }
                        }
                    }
                    
                    cellExtensionEntry++;
                    
                    newExtensionEntryNo = to_string(cellExtensionEntry);
                    
                    if (newExtensionEntryNo.length() == 1) newExtensionEntryNo = "-60000"+newExtensionEntryNo+"700";
                    else if (newExtensionEntryNo.length() == 2) newExtensionEntryNo = "-6000"+newExtensionEntryNo+"700";
                    else if (newExtensionEntryNo.length() == 3) newExtensionEntryNo = "-600"+newExtensionEntryNo+"700";
                    else if (newExtensionEntryNo.length() == 4) newExtensionEntryNo = "-60"+newExtensionEntryNo+"700";
                    else if (newExtensionEntryNo.length() == 5) newExtensionEntryNo = "-6"+newExtensionEntryNo+"700";
                    
                    newCellNumber = atoi(newExtensionEntryNo.c_str());
                }
            }
        }
    }
    
    return newCellNumber;
}
-(int)cellNumberSubtraction:(int)position{
    string cellNumberExtract = to_string(activeCellStatusList [position*12]);
    
    if (activeCellStatusList [position*12] < 0){
        if ((int)cellNumberExtract.length() == 9) cellNumberExtract = "-0"+cellNumberExtract.substr(1);
    }
    else if ((int)cellNumberExtract.length() == 8) cellNumberExtract = "0"+cellNumberExtract;
    
    int cellNumberTempInt = activeCellStatusList [position*12];
    int numberLength = (int)cellNumberExtract.length();
    int zeroPoint = -1;
    int checkFlag = 0;
    int newCellNumber = 0;
    int degitNumber = 0;
    int cellExtensionEntry = 0;
    string degitExtract;
    string newExtensionEntryNo;
    
    if (cellNumberTempInt == 0) newCellNumber = 100000000;
    else{
        
        for (int counter3 = 0; counter3 < numberLength; counter3++){
            degitExtract = cellNumberExtract.substr((unsigned long)counter3, 1);
            
            if (checkFlag == 0 && degitExtract == "0"){
                zeroPoint = counter3;
                checkFlag = 1;
            }
            else if (checkFlag == 1 && degitExtract != "0"){
                zeroPoint = -1;
                checkFlag = 0;
            }
        }
        
        if (zeroPoint != -1){
            degitNumber = numberLength-zeroPoint;
            
            if (degitNumber == 8) newCellNumber = cellNumberTempInt-10000000;
            else if (degitNumber == 7) newCellNumber = cellNumberTempInt-1000000;
            else if (degitNumber == 6) newCellNumber = cellNumberTempInt-100000;
            else if (degitNumber == 5) newCellNumber = cellNumberTempInt-10000;
            else if (degitNumber == 4) newCellNumber = cellNumberTempInt-1000;
            else if (degitNumber == 3) newCellNumber = cellNumberTempInt-100;
            else if (degitNumber == 2) newCellNumber = cellNumberTempInt-10;
            else if (degitNumber == 1) newCellNumber = cellNumberTempInt-1;
        }
        else{
            
            cellExtensionEntry = 0;
            
            if (cellNumberTempInt > 0){
                if (cellNumberExtract.substr(0, 1) == "0"){
                    for (int counter3 = 0; counter3 < cellNoLingNoListCount/2; counter3++){
                        if (cellNoLingNoList [counter3*2] == activeCellStatusList [position*12+3]){
                            if ((to_string(cellNoLingNoList [counter3*2+1])).substr(0, 1) == "3"){
                                if (atoi((to_string(cellNoLingNoList [counter3*2+1])).substr(1, 5).c_str()) > cellExtensionEntry){
                                    cellExtensionEntry = atoi((to_string(cellNoLingNoList [counter3*2+1])).substr(1, 5).c_str());
                                }
                            }
                        }
                    }
                    
                    cellExtensionEntry++;
                    
                    newExtensionEntryNo = to_string(cellExtensionEntry);
                    
                    if (newExtensionEntryNo.length() == 1) newExtensionEntryNo = "30000"+newExtensionEntryNo+"300";
                    else if (newExtensionEntryNo.length() == 2) newExtensionEntryNo = "3000"+newExtensionEntryNo+"300";
                    else if (newExtensionEntryNo.length() == 3) newExtensionEntryNo = "300"+newExtensionEntryNo+"300";
                    else if (newExtensionEntryNo.length() == 4) newExtensionEntryNo = "30"+newExtensionEntryNo+"300";
                    else if (newExtensionEntryNo.length() == 5) newExtensionEntryNo = "3"+newExtensionEntryNo+"300";
                    
                    newCellNumber = atoi(newExtensionEntryNo.c_str());
                }
                
                if (cellNumberExtract.substr(0, 1) == "1" || cellNumberExtract.substr(0, 1) == "2"){
                    for (int counter3 = 0; counter3 < cellNoLingNoListCount/2; counter3++){
                        if (cellNoLingNoList [counter3*2] == activeCellStatusList [position*12+3]){
                            if ((to_string(cellNoLingNoList [counter3*2+1])).substr(0, 1) == "4"){
                                if (atoi((to_string(cellNoLingNoList [counter3*2+1])).substr(1, 5).c_str()) > cellExtensionEntry){
                                    cellExtensionEntry = atoi((to_string(cellNoLingNoList [counter3*2+1])).substr(1, 5).c_str());
                                }
                            }
                        }
                    }
                    
                    cellExtensionEntry++;
                    
                    newExtensionEntryNo = to_string(cellExtensionEntry);
                    
                    if (newExtensionEntryNo.length() == 1) newExtensionEntryNo = "40000"+newExtensionEntryNo+"300";
                    else if (newExtensionEntryNo.length() == 2) newExtensionEntryNo = "4000"+newExtensionEntryNo+"300";
                    else if (newExtensionEntryNo.length() == 3) newExtensionEntryNo = "400"+newExtensionEntryNo+"300";
                    else if (newExtensionEntryNo.length() == 4) newExtensionEntryNo = "40"+newExtensionEntryNo+"300";
                    else if (newExtensionEntryNo.length() == 5) newExtensionEntryNo = "4"+newExtensionEntryNo+"300";
                    
                    newCellNumber = atoi(newExtensionEntryNo.c_str());
                }
                
                if (cellNumberExtract.substr(0, 1) == "3"){
                    for (int counter3 = 0; counter3 < cellNoLingNoListCount/2; counter3++){
                        if (cellNoLingNoList [counter3*2] == activeCellStatusList [position*12+3]){
                            if ((to_string(cellNoLingNoList [counter3*2+1])).substr(0, 1) == "5"){
                                if (atoi((to_string(cellNoLingNoList [counter3*2+1])).substr(1, 5).c_str()) > cellExtensionEntry){
                                    cellExtensionEntry = atoi((to_string(cellNoLingNoList [counter3*2+1])).substr(1, 5).c_str());
                                }
                            }
                        }
                    }
                    
                    cellExtensionEntry++;
                    
                    newExtensionEntryNo = to_string(cellExtensionEntry);
                    
                    if (newExtensionEntryNo.length() == 1) newExtensionEntryNo = "50000"+newExtensionEntryNo+"300";
                    else if (newExtensionEntryNo.length() == 2) newExtensionEntryNo = "5000"+newExtensionEntryNo+"300";
                    else if (newExtensionEntryNo.length() == 3) newExtensionEntryNo = "500"+newExtensionEntryNo+"300";
                    else if (newExtensionEntryNo.length() == 4) newExtensionEntryNo = "50"+newExtensionEntryNo+"300";
                    else if (newExtensionEntryNo.length() == 5) newExtensionEntryNo = "5"+newExtensionEntryNo+"300";
                    
                    newCellNumber = atoi(newExtensionEntryNo.c_str());
                }
                
                if (cellNumberExtract.substr(0, 1) == "4"){
                    for (int counter3 = 0; counter3 < cellNoLingNoListCount/2; counter3++){
                        if (cellNoLingNoList [counter3*2] == activeCellStatusList [position*12+3]){
                            if ((to_string(cellNoLingNoList [counter3*2+1])).substr(0, 1) == "6"){
                                if (atoi((to_string(cellNoLingNoList [counter3*2+1])).substr(1, 5).c_str()) > cellExtensionEntry){
                                    cellExtensionEntry = atoi((to_string(cellNoLingNoList [counter3*2+1])).substr(1, 5).c_str());
                                }
                            }
                        }
                    }
                    
                    cellExtensionEntry++;
                    
                    newExtensionEntryNo = to_string(cellExtensionEntry);
                    
                    if (newExtensionEntryNo.length() == 1) newExtensionEntryNo = "60000"+newExtensionEntryNo+"300";
                    else if (newExtensionEntryNo.length() == 2) newExtensionEntryNo = "6000"+newExtensionEntryNo+"300";
                    else if (newExtensionEntryNo.length() == 3) newExtensionEntryNo = "600"+newExtensionEntryNo+"300";
                    else if (newExtensionEntryNo.length() == 4) newExtensionEntryNo = "60"+newExtensionEntryNo+"300";
                    else if (newExtensionEntryNo.length() == 5) newExtensionEntryNo = "6"+newExtensionEntryNo+"300";
                    
                    newCellNumber = atoi(newExtensionEntryNo.c_str());
                }
            }
            else{
                
                if (cellNumberExtract.substr(1, 1) == "0"){
                    for (int counter3 = 0; counter3 < cellNoLingNoListCount/2; counter3++){
                        if (cellNoLingNoList [counter3*2] == activeCellStatusList [position*12+3]){
                            if ((to_string(cellNoLingNoList [counter3*2+1])).substr(1, 1) == "3"){
                                if (atoi((to_string(cellNoLingNoList [counter3*2+1])).substr(2, 5).c_str()) > cellExtensionEntry){
                                    cellExtensionEntry = atoi((to_string(cellNoLingNoList [counter3*2+1])).substr(2, 5).c_str());
                                }
                            }
                        }
                    }
                    
                    cellExtensionEntry++;
                    
                    newExtensionEntryNo = to_string(cellExtensionEntry);
                    
                    if (newExtensionEntryNo.length() == 1) newExtensionEntryNo = "-30000"+newExtensionEntryNo+"300";
                    else if (newExtensionEntryNo.length() == 2) newExtensionEntryNo = "-3000"+newExtensionEntryNo+"300";
                    else if (newExtensionEntryNo.length() == 3) newExtensionEntryNo = "-300"+newExtensionEntryNo+"300";
                    else if (newExtensionEntryNo.length() == 4) newExtensionEntryNo = "-30"+newExtensionEntryNo+"300";
                    else if (newExtensionEntryNo.length() == 5) newExtensionEntryNo = "-3"+newExtensionEntryNo+"300";
                    
                    newCellNumber = atoi(newExtensionEntryNo.c_str());
                }
                
                if (cellNumberExtract.substr(1, 1) == "1" || cellNumberExtract.substr(1, 1) == "2"){
                    for (int counter3 = 0; counter3 < cellNoLingNoListCount/2; counter3++){
                        if (cellNoLingNoList [counter3*2] == activeCellStatusList [position*12+3]){
                            if ((to_string(cellNoLingNoList [counter3*2+1])).substr(1, 1) == "4"){
                                if (atoi((to_string(cellNoLingNoList [counter3*2+1])).substr(2, 5).c_str()) > cellExtensionEntry){
                                    cellExtensionEntry = atoi((to_string(cellNoLingNoList [counter3*2+1])).substr(2, 5).c_str());
                                }
                            }
                        }
                    }
                    
                    cellExtensionEntry++;
                    
                    newExtensionEntryNo = to_string(cellExtensionEntry);
                    
                    if (newExtensionEntryNo.length() == 1) newExtensionEntryNo = "-40000"+newExtensionEntryNo+"300";
                    else if (newExtensionEntryNo.length() == 2) newExtensionEntryNo = "-4000"+newExtensionEntryNo+"300";
                    else if (newExtensionEntryNo.length() == 3) newExtensionEntryNo = "-400"+newExtensionEntryNo+"300";
                    else if (newExtensionEntryNo.length() == 4) newExtensionEntryNo = "-40"+newExtensionEntryNo+"300";
                    else if (newExtensionEntryNo.length() == 5) newExtensionEntryNo = "-4"+newExtensionEntryNo+"300";
                    
                    newCellNumber = atoi(newExtensionEntryNo.c_str());
                }
                
                if (cellNumberExtract.substr(1, 1) == "3"){
                    for (int counter3 = 0; counter3 < cellNoLingNoListCount/2; counter3++){
                        if (cellNoLingNoList [counter3*2] == activeCellStatusList [position*12+3]){
                            if ((to_string(cellNoLingNoList [counter3*2+1])).substr(1, 1) == "5"){
                                if (atoi((to_string(cellNoLingNoList [counter3*2+1])).substr(2, 5).c_str()) > cellExtensionEntry){
                                    cellExtensionEntry = atoi((to_string(cellNoLingNoList [counter3*2+1])).substr(2, 5).c_str());
                                }
                            }
                        }
                    }
                    
                    cellExtensionEntry++;
                    
                    newExtensionEntryNo = to_string(cellExtensionEntry);
                    
                    if (newExtensionEntryNo.length() == 1) newExtensionEntryNo = "-50000"+newExtensionEntryNo+"300";
                    else if (newExtensionEntryNo.length() == 2) newExtensionEntryNo = "-5000"+newExtensionEntryNo+"300";
                    else if (newExtensionEntryNo.length() == 3) newExtensionEntryNo = "-500"+newExtensionEntryNo+"300";
                    else if (newExtensionEntryNo.length() == 4) newExtensionEntryNo = "-50"+newExtensionEntryNo+"300";
                    else if (newExtensionEntryNo.length() == 5) newExtensionEntryNo = "-5"+newExtensionEntryNo+"300";
                    
                    newCellNumber = atoi(newExtensionEntryNo.c_str());
                }
                
                if (cellNumberExtract.substr(1, 1) == "4"){
                    for (int counter3 = 0; counter3 < cellNoLingNoListCount/2; counter3++){
                        if (cellNoLingNoList [counter3*2] == activeCellStatusList [position*12+3]){
                            if ((to_string(cellNoLingNoList [counter3*2+1])).substr(1, 1) == "6"){
                                if (atoi((to_string(cellNoLingNoList [counter3*2+1])).substr(2, 5).c_str()) > cellExtensionEntry){
                                    cellExtensionEntry = atoi((to_string(cellNoLingNoList [counter3*2+1])).substr(2, 5).c_str());
                                }
                            }
                        }
                    }
                    
                    cellExtensionEntry++;
                    
                    newExtensionEntryNo = to_string(cellExtensionEntry);
                    
                    if (newExtensionEntryNo.length() == 1) newExtensionEntryNo = "-60000"+newExtensionEntryNo+"300";
                    else if (newExtensionEntryNo.length() == 2) newExtensionEntryNo = "-6000"+newExtensionEntryNo+"300";
                    else if (newExtensionEntryNo.length() == 3) newExtensionEntryNo = "-600"+newExtensionEntryNo+"300";
                    else if (newExtensionEntryNo.length() == 4) newExtensionEntryNo = "-60"+newExtensionEntryNo+"300";
                    else if (newExtensionEntryNo.length() == 5) newExtensionEntryNo = "-6"+newExtensionEntryNo+"300";
                    
                    newCellNumber = atoi(newExtensionEntryNo.c_str());
                }
            }
        }
    }
    
    return newCellNumber;
}
-(int)cellNumberAdditionSecond:(int)position{
    string cellNumberExtract = to_string(activeCellStatusList [position*12]);
    
    if (activeCellStatusList [position*12] < 0){
        if ((int)cellNumberExtract.length() == 9) cellNumberExtract = "-0"+cellNumberExtract.substr(1);
    }
    else if ((int)cellNumberExtract.length() == 8) cellNumberExtract = "0"+cellNumberExtract;
    
    int cellNumberTempInt = activeCellStatusList [position*12];
    int numberLength = (int)cellNumberExtract.length();
    int zeroPoint = -1;
    int checkFlag = 0;
    int newCellNumber = 0;
    int degitNumber = 0;
    int cellExtensionEntry = 0;
    string degitExtract;
    string newExtensionEntryNo;
    
    if (cellNumberTempInt == 0) newCellNumber = -200000000;
    else{
        
        for (int counter3 = 0; counter3 < numberLength; counter3++){
            degitExtract = cellNumberExtract.substr((unsigned long)counter3, 1);
            
            if (checkFlag == 0 && degitExtract == "0"){
                zeroPoint = counter3;
                checkFlag = 1;
            }
            else if (checkFlag == 1 && degitExtract != "0"){
                zeroPoint = -1;
                checkFlag = 0;
            }
        }
        
        if (zeroPoint != -1){
            degitNumber = numberLength-zeroPoint;
            
            if (degitNumber == 8) newCellNumber = cellNumberTempInt+20000000;
            else if (degitNumber == 7) newCellNumber = cellNumberTempInt+2000000;
            else if (degitNumber == 6) newCellNumber = cellNumberTempInt+200000;
            else if (degitNumber == 5) newCellNumber = cellNumberTempInt+20000;
            else if (degitNumber == 4) newCellNumber = cellNumberTempInt+2000;
            else if (degitNumber == 3) newCellNumber = cellNumberTempInt+200;
            else if (degitNumber == 2) newCellNumber = cellNumberTempInt+20;
            else if (degitNumber == 1) newCellNumber = cellNumberTempInt+2;
        }
        else{
            
            cellExtensionEntry = 0;
            
            if (cellNumberTempInt > 0){
                if (cellNumberExtract.substr(0, 1) == "0"){
                    for (int counter3 = 0; counter3 < cellNoLingNoListCount/2; counter3++){
                        if (cellNoLingNoList [counter3*2] == activeCellStatusList [position*12+3]){
                            if ((to_string(cellNoLingNoList [counter3*2+1])).substr(0, 1) == "3"){
                                if (atoi((to_string(cellNoLingNoList [counter3*2+1])).substr(1, 5).c_str()) > cellExtensionEntry){
                                    cellExtensionEntry = atoi((to_string(cellNoLingNoList [counter3*2+1])).substr(1, 5).c_str());
                                }
                            }
                        }
                    }
                    
                    cellExtensionEntry++;
                    
                    newExtensionEntryNo = to_string(cellExtensionEntry);
                    
                    if (newExtensionEntryNo.length() == 1) newExtensionEntryNo = "30000"+newExtensionEntryNo+"600";
                    else if (newExtensionEntryNo.length() == 2) newExtensionEntryNo = "3000"+newExtensionEntryNo+"600";
                    else if (newExtensionEntryNo.length() == 3) newExtensionEntryNo = "300"+newExtensionEntryNo+"600";
                    else if (newExtensionEntryNo.length() == 4) newExtensionEntryNo = "30"+newExtensionEntryNo+"600";
                    else if (newExtensionEntryNo.length() == 5) newExtensionEntryNo = "3"+newExtensionEntryNo+"600";
                    
                    newCellNumber = atoi(newExtensionEntryNo.c_str());
                }
                
                if (cellNumberExtract.substr(0, 1) == "1" || cellNumberExtract.substr(0, 1) == "2"){
                    for (int counter3 = 0; counter3 < cellNoLingNoListCount/2; counter3++){
                        if (cellNoLingNoList [counter3*2] == activeCellStatusList [position*12+3]){
                            if ((to_string(cellNoLingNoList [counter3*2+1])).substr(0, 1) == "4"){
                                if (atoi((to_string(cellNoLingNoList [counter3*2+1])).substr(1, 5).c_str()) > cellExtensionEntry){
                                    cellExtensionEntry = atoi((to_string(cellNoLingNoList [counter3*2+1])).substr(1, 5).c_str());
                                }
                            }
                        }
                    }
                    
                    cellExtensionEntry++;
                    
                    newExtensionEntryNo = to_string(cellExtensionEntry);
                    
                    if (newExtensionEntryNo.length() == 1) newExtensionEntryNo = "40000"+newExtensionEntryNo+"600";
                    else if (newExtensionEntryNo.length() == 2) newExtensionEntryNo = "4000"+newExtensionEntryNo+"600";
                    else if (newExtensionEntryNo.length() == 3) newExtensionEntryNo = "400"+newExtensionEntryNo+"600";
                    else if (newExtensionEntryNo.length() == 4) newExtensionEntryNo = "40"+newExtensionEntryNo+"600";
                    else if (newExtensionEntryNo.length() == 5) newExtensionEntryNo = "4"+newExtensionEntryNo+"600";
                    
                    newCellNumber = atoi(newExtensionEntryNo.c_str());
                }
                
                if (cellNumberExtract.substr(0, 1) == "3"){
                    for (int counter3 = 0; counter3 < cellNoLingNoListCount/2; counter3++){
                        if (cellNoLingNoList [counter3*2] == activeCellStatusList [position*12+3]){
                            if ((to_string(cellNoLingNoList [counter3*2+1])).substr(0, 1) == "5"){
                                if (atoi((to_string(cellNoLingNoList [counter3*2+1])).substr(1, 5).c_str()) > cellExtensionEntry){
                                    cellExtensionEntry = atoi((to_string(cellNoLingNoList [counter3*2+1])).substr(1, 5).c_str());
                                }
                            }
                        }
                    }
                    
                    cellExtensionEntry++;
                    
                    newExtensionEntryNo = to_string(cellExtensionEntry);
                    
                    if (newExtensionEntryNo.length() == 1) newExtensionEntryNo = "50000"+newExtensionEntryNo+"600";
                    else if (newExtensionEntryNo.length() == 2) newExtensionEntryNo = "5000"+newExtensionEntryNo+"600";
                    else if (newExtensionEntryNo.length() == 3) newExtensionEntryNo = "500"+newExtensionEntryNo+"600";
                    else if (newExtensionEntryNo.length() == 4) newExtensionEntryNo = "50"+newExtensionEntryNo+"600";
                    else if (newExtensionEntryNo.length() == 5) newExtensionEntryNo = "5"+newExtensionEntryNo+"600";
                    
                    newCellNumber = atoi(newExtensionEntryNo.c_str());
                }
                
                if (cellNumberExtract.substr(0, 1) == "4"){
                    for (int counter3 = 0; counter3 < cellNoLingNoListCount/2; counter3++){
                        if (cellNoLingNoList [counter3*2] == activeCellStatusList [position*12+3]){
                            if ((to_string(cellNoLingNoList [counter3*2+1])).substr(0, 1) == "6"){
                                if (atoi((to_string(cellNoLingNoList [counter3*2+1])).substr(1, 5).c_str()) > cellExtensionEntry){
                                    cellExtensionEntry = atoi((to_string(cellNoLingNoList [counter3*2+1])).substr(1, 5).c_str());
                                }
                            }
                        }
                    }
                    
                    cellExtensionEntry++;
                    
                    newExtensionEntryNo = to_string(cellExtensionEntry);
                    
                    if (newExtensionEntryNo.length() == 1) newExtensionEntryNo = "60000"+newExtensionEntryNo+"600";
                    else if (newExtensionEntryNo.length() == 2) newExtensionEntryNo = "6000"+newExtensionEntryNo+"600";
                    else if (newExtensionEntryNo.length() == 3) newExtensionEntryNo = "600"+newExtensionEntryNo+"600";
                    else if (newExtensionEntryNo.length() == 4) newExtensionEntryNo = "60"+newExtensionEntryNo+"600";
                    else if (newExtensionEntryNo.length() == 5) newExtensionEntryNo = "6"+newExtensionEntryNo+"600";
                    
                    newCellNumber = atoi(newExtensionEntryNo.c_str());
                }
            }
            else{
                
                if (cellNumberExtract.substr(1, 1) == "0"){
                    for (int counter3 = 0; counter3 < cellNoLingNoListCount/2; counter3++){
                        if (cellNoLingNoList [counter3*2] == activeCellStatusList [position*12+3]){
                            if ((to_string(cellNoLingNoList [counter3*2+1])).substr(1, 1) == "3"){
                                if (atoi((to_string(cellNoLingNoList [counter3*2+1])).substr(2, 5).c_str()) > cellExtensionEntry){
                                    cellExtensionEntry = atoi((to_string(cellNoLingNoList [counter3*2+1])).substr(2, 5).c_str());
                                }
                            }
                        }
                    }
                    
                    cellExtensionEntry++;
                    
                    newExtensionEntryNo = to_string(cellExtensionEntry);
                    
                    if (newExtensionEntryNo.length() == 1) newExtensionEntryNo = "-30000"+newExtensionEntryNo+"600";
                    else if (newExtensionEntryNo.length() == 2) newExtensionEntryNo = "-3000"+newExtensionEntryNo+"600";
                    else if (newExtensionEntryNo.length() == 3) newExtensionEntryNo = "-300"+newExtensionEntryNo+"600";
                    else if (newExtensionEntryNo.length() == 4) newExtensionEntryNo = "-30"+newExtensionEntryNo+"600";
                    else if (newExtensionEntryNo.length() == 5) newExtensionEntryNo = "-3"+newExtensionEntryNo+"600";
                    
                    newCellNumber = atoi(newExtensionEntryNo.c_str());
                }
                
                if (cellNumberExtract.substr(1, 1) == "1" || cellNumberExtract.substr(1, 1) == "2"){
                    for (int counter3 = 0; counter3 < cellNoLingNoListCount/2; counter3++){
                        if (cellNoLingNoList [counter3*2] == activeCellStatusList [position*12+3]){
                            if ((to_string(cellNoLingNoList [counter3*2+1])).substr(1, 1) == "4"){
                                if (atoi((to_string(cellNoLingNoList [counter3*2+1])).substr(2, 5).c_str()) > cellExtensionEntry){
                                    cellExtensionEntry = atoi((to_string(cellNoLingNoList [counter3*2+1])).substr(2, 5).c_str());
                                }
                            }
                        }
                    }
                    
                    cellExtensionEntry++;
                    
                    newExtensionEntryNo = to_string(cellExtensionEntry);
                    
                    if (newExtensionEntryNo.length() == 1) newExtensionEntryNo = "-40000"+newExtensionEntryNo+"600";
                    else if (newExtensionEntryNo.length() == 2) newExtensionEntryNo = "-4000"+newExtensionEntryNo+"600";
                    else if (newExtensionEntryNo.length() == 3) newExtensionEntryNo = "-400"+newExtensionEntryNo+"600";
                    else if (newExtensionEntryNo.length() == 4) newExtensionEntryNo = "-40"+newExtensionEntryNo+"600";
                    else if (newExtensionEntryNo.length() == 5) newExtensionEntryNo = "-4"+newExtensionEntryNo+"600";
                    
                    newCellNumber = atoi(newExtensionEntryNo.c_str());
                }
                
                if (cellNumberExtract.substr(1, 1) == "3"){
                    for (int counter3 = 0; counter3 < cellNoLingNoListCount/2; counter3++){
                        if (cellNoLingNoList [counter3*2] == activeCellStatusList [position*12+3]){
                            if ((to_string(cellNoLingNoList [counter3*2+1])).substr(1, 1) == "5"){
                                if (atoi((to_string(cellNoLingNoList [counter3*2+1])).substr(2, 5).c_str()) > cellExtensionEntry){
                                    cellExtensionEntry = atoi((to_string(cellNoLingNoList [counter3*2+1])).substr(2, 5).c_str());
                                }
                            }
                        }
                    }
                    
                    cellExtensionEntry++;
                    
                    newExtensionEntryNo = to_string(cellExtensionEntry);
                    
                    if (newExtensionEntryNo.length() == 1) newExtensionEntryNo = "-50000"+newExtensionEntryNo+"600";
                    else if (newExtensionEntryNo.length() == 2) newExtensionEntryNo = "-5000"+newExtensionEntryNo+"600";
                    else if (newExtensionEntryNo.length() == 3) newExtensionEntryNo = "-500"+newExtensionEntryNo+"600";
                    else if (newExtensionEntryNo.length() == 4) newExtensionEntryNo = "-50"+newExtensionEntryNo+"600";
                    else if (newExtensionEntryNo.length() == 5) newExtensionEntryNo = "-5"+newExtensionEntryNo+"600";
                    
                    newCellNumber = atoi(newExtensionEntryNo.c_str());
                }
                
                if (cellNumberExtract.substr(1, 1) == "4"){
                    for (int counter3 = 0; counter3 < cellNoLingNoListCount/2; counter3++){
                        if (cellNoLingNoList [counter3*2] == activeCellStatusList [position*12+3]){
                            if ((to_string(cellNoLingNoList [counter3*2+1])).substr(1, 1) == "6"){
                                if (atoi((to_string(cellNoLingNoList [counter3*2+1])).substr(2, 5).c_str()) > cellExtensionEntry){
                                    cellExtensionEntry = atoi((to_string(cellNoLingNoList [counter3*2+1])).substr(2, 5).c_str());
                                }
                            }
                        }
                    }
                    
                    cellExtensionEntry++;
                    
                    newExtensionEntryNo = to_string(cellExtensionEntry);
                    
                    if (newExtensionEntryNo.length() == 1) newExtensionEntryNo = "-60000"+newExtensionEntryNo+"600";
                    else if (newExtensionEntryNo.length() == 2) newExtensionEntryNo = "-6000"+newExtensionEntryNo+"600";
                    else if (newExtensionEntryNo.length() == 3) newExtensionEntryNo = "-600"+newExtensionEntryNo+"600";
                    else if (newExtensionEntryNo.length() == 4) newExtensionEntryNo = "-60"+newExtensionEntryNo+"600";
                    else if (newExtensionEntryNo.length() == 5) newExtensionEntryNo = "-6"+newExtensionEntryNo+"600";
                    
                    newCellNumber = atoi(newExtensionEntryNo.c_str());
                }
            }
        }
    }
    
    return newCellNumber;
}
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